HEER 102 BFESRTEHERE

PRESESRE (=) ER
(- -] pF)

LAHAEHAEERE , moAh=1T—2,

2 BIRERRESRNN , HEELEERRERE,

~ WP LPR X =4y+42 B AB L MR AE P - 3o

(54)
¥ ZAPB=90° R AAPB 2 | & f# ©

= ~ % x=0.1234, y=0.8766, +
(42)

20 20
(ZCiZOH NG y| +ch20+] y21 ¥ _2)2013 .
i=0 j=0

R frg() e 5 F fhlies K SR R G 1 ¢ (0
(3#)

g(x) e G Ax—4, @ g?(X) L E(X) ARt S —dAx=4, *
F(x)+9(x) -

o~ 53°-2¥=a.10", #¢ 1l<a<10: ¥ ni @ F#k Fa i #Ns o

¢ (log2=0.3010, log3=0.4771)

7ok f ORI #er) R gox#0 12 2f()+5f () =x -
C A

S v dr L Bl A 0 B & = & 35 ACF ¥

(3 4) — = —
/C=90°, CF =3, % BE=EF =2,



» /ABE=90°, £ BF o



